Ea s morag

CHELEERL A K F

( - ) R =4 BEQGT) 1094 1%
4 B 3 802,230
s Ed & z 5,352,554
= N = 300,960
& z = % 7,718
% e = N 171,572
R = =4 4,055
i FE H == =4 662,320
b5iiA H - S/ B N ¢ 0
LA Al & i3 sz A 0
& Bt 7,301,409
H X & — B 3 #£ & &t 7,301,409
( _ ) 77 A
# £ A H £ 2 # W # 7,322,509
= g va) i # 7,692,000
2 K & A B 44tk 95.20%
( = ) xE G g | WHEF FEZ U 4RER HECEE
B - X B E (K AR) | 41| EED 1 ~20 (F98: 27 )
— B X 4 A5 F£ ) | 1514 EE 1~ 1133 (F8E: 381 )
B0 5 EHEAE) | 409 | EEE 1~ 400 (F%&: 9 )
ENEES  17TME (IR 40()
TR M EREE  2200F (9% 25¢F) 2,565
BB 200 (F9E: 3¢)
5 Fit S B | 595 |EmeEs 481 (F9% 1 12(F)
BEBE 270 (T 4fF)
BERSE 444 (F9R 0 1114F)
ELEE  62(F (F9t: 12¢0)
BRI 108 4 (1 ~108 )
+ i ool S| 145 |EHRHNASZ 20 4R (1 ~20 )
SHIE 22 ERCHE 17 4 (1 ~17 ) 199
N = EHAE 46 4 (1 ~46)
= i A B\ s sk (1 ~8 )
B\ OB OAK (Web B ) | 1245 | EHbEERE |1 ~ 1815 (HEKETIEN 570 #)
BETEAEZ-BRELR) 0 ~ (E&KETIEE )
BETRBA(ERTREBA) | 202 1 ~ 247 (BE&KETIELLS #)
28 1~20 (+IEFTEEE ~ 8
T Fit & (+EEFTER =1 ~ 8)
FRFPA o 2 1~2
S H # & | ® 5l 5 1~5 1,544
A | py 5% AR | ~
A I B K (K Fro) | 55 1 ~55
A T B KX (B ) 7 1 ~7
— & X # B B ~
g oEE A B oE M OF 3B B 0 ~
Ty | BT OBEOK (Web R ) | 570 FEIZ U ARIR L& A R AN
s BTFREA(EZ-EBERER) 0 2 R B a T S EEAA 615
A l mrmra (BB A) | 45 HEYZU AR 2 S IR A
— &% N 3 Ur | 1,401 Ebg Uz 707 & - BT 694 4
REBH 41 F (1,2,6,7,10,11,16,17,19~21,23~25,28,31,32,34~42 45~47 }kZ
%@%Mﬁ‘ﬁ%%@%*ﬁﬁ%fﬁ&iﬁ%$“ﬁmﬂ
- T 3 EHCHSERE O 4 ()
R HHRRE 2 ¢ (1621 )
EHCHIERT O 4 ()
N EEHUAEERR O 4 () 1,465
ESEL 21 1 (1,2,5,6,8,9,12,19~24,27 Mk B EL 12, HE 5 E12,11,19, 8% 1 —E
8,16, -5 EL6)
B & 21 EEHCASEE O 4 ()
AR 04 ()
B HHIERES 0 14 ( ~ )
T AN AL 0 128 ( ~ )
% Gs 48 & 5t 6,388
H & £ — H B # & &t 6,388
i3 = A # 49
o BB R E AN Y R’ 3
=
% T 23
i 153 A = 40
& g 115




